

Original Copy Tax Invoice CIN NO- U70109UP2017PTC097514 CLIENT NAME & ADDRESS ;-GSTN: 09AADCL4242K1ZD M/S Minda Corporation Ltd. PAN NO - AADCL4242K D - 6-11, Sector - 59, Noida P.O.No.& Date - 4300029406 27 05 2022 G.B. Nagar (U.P.) INVOICE No .: - LIA/UP/15 Client GSTN-09AAACM0344C1Z1 INVOICE Date: - 25/10/2022 Hsn Amount Rate Qtv Unit Particular S.No. Code 6,000,000 00 6.000,000.00 9954 1.00 No. 1.00 Bill For Assy. Area Expansion Work AS Per ANNEX. SE-1000201689 9400139538 6,000,000.00 Total 540,000.00 Add SGST @ 9% (State tax) Add CGST @ 9% (Central tax) 540,000.00 7,080,000.00 **Total Amount** ount in words :- Seventy Lakh Eighty Thousand Rupees Only For L.I.A. Projects Pvt. Ltd. Payment of our Bill must be made on or before due date as shown above, in case of payment is not made by due date, interest @24% will be charged extra 2. All Dispute subject to Distt. Gautam Budh Nagar Jurisdiction Only 1 PROJECT Authorised Signatory) plant to ader v L.I.A. PROJECTS PR

Reg. Office (ii): 187, Ch. Chander Market, Main Dadri Road, Sector-101, Salarpur, Noida - 201304, Uttar Pradesh |

CIN No.: U70109UP2017PTC097514

Mob.: 9811732288 / 8414286491

Mail us at : info@liaprojects.in | Website : www.liaprojects.in

## SUMMARY OF PROJECT COST

	o. Summary	Атоип
1	DISMANTLING WORKS	
1.1	Dismantling of Existing Toilet, Existing Store and Paver Block	171,682.53
	Sub-Total	171,682.53
2	CONSTRUCTION OF FEMALE TOILET AND STORE	
2.1	Excavation works	81,900.00
2.2	PCC and RCC works	422,513.90
2.3	Flooring Works	79,322.72
2.4	Tile Claddings, DPC and Water Proofing works	150,330.1
2.5	Brickworks and plastering	536,656.80
2.6	Drainage and Water Pipe works	44,870.00
2.7	Primer and Putty works	14,400.00
2.8	MISCELLANEOUS WORKS	409,220.00
SI.S.	Sub-Total	1,739,213.5
3	RENOVATION OF MALE TOILET	
3.1	Excavation works	25,110.00
3.2	Cement Concrete Flooring works	26,600.00
3.3	Tile Flooring Works	0.0
3.4	Stone Granite works, DPC and Water Proofing works	99,395.00
3.5	Plastering and Putty works	0.00
3.7	Miscellaneous works	447,940.00
	Sub-Total	599,045.00
4	CONSTRUCTION OF OFFICE SPACE	
4.4	Miscellaneous Components in Office	380,000.00
7.7	Sub-Total	380,000.00
-	CONSTRUCTION OF MACHINE DEVELOPMENT AREA	
5		922,215.00
5.1	False Ceiling Works Flooring Works	429,324.00
5.2	Partition Wall works	325,495.03
	Sub-Total	1,677,034.03
5.3		.,,
5.3		
6	CONSTRUCTION OF RIGID PAVEMENT	
6 6 5,1	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation	91,800.00
6 6 3.1 3.2	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation Sub Base and Base Layer	91,800.00 383,943.75
6 5.1 5.2 5.3	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation Sub Base and Base Layer Concrete Layer	91,800.00 383,943.75 671,912.70
6 6 3.1 3.2 3.3	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation Sub Base and Base Layer Concrete Layer Miscellaneous Works	91,800.00 383,943.75 671,912.70 470,936.00
6 6 3.1 3.2 3.3	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation Sub Base and Base Layer Concrete Layer	91,800.00 383,943.73 671,912.70 470,936.00
6 6 3.1 3.2 3.3 3.5	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation Sub Base and Base Layer Concrete Layer Miscellaneous Works Sub-Total	91,800.00 383,943.75 671,912.70 470,936.00 1,618,592.45
6 6 6.1 6.2 6.3 6.5	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation Sub Base and Base Layer Concrete Layer Miscellaneous Works Sub-Total GRAND TOTAL	91,800.00 383,943.73 671,912.70 470,936.00 <b>1,618,592.4</b> <b>6,185,567.5</b> 185,567.03
6 6 3.1 3.2 3.3 3.5	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation Sub Base and Base Layer Concrete Layer Miscellaneous Works Sub-Total GRAND TOTAL Discount @ 3%	91,800.00 383,943.75 671,912.70 470,936.00 1,618,592.45 6,185,567.53 185,567.03 6,000,000.51
6 6.1 6.2 6.3 6.5	CONSTRUCTION OF RIGID PAVEMENT Sub Grade Preparation Sub Base and Base Layer Concrete Layer Miscellaneous Works Sub-Total GRAND TOTAL	91,800.00 383,943.75 671,912.70 470,936.00 1,618,592.45

-	Dismantling/Demolition Works				
S. No	Description of items	Unit	Qty	Rate	Amount
4	DISMANTLING OF EXISTING TOILET, EXISTING STORE AND PAVER BI Dismantling of flushing cistern of all types (C.I./PVC/Vitrious China) including stacking of useful materials near the site and disposal of unservicable materials withing 50 metres lead.	Nos	6.00	1,000.00	₹ 6,000.00
2	Demolishing brick work manually/ by mechanical means including stacking of servicable material and disposal of unservicable material withing 50 metres lead as per direction of Engineer-in charge in cement mortar	cum	22.97	2,500.00	₹ 57,421.86
4	For thickness of Tiles 10 mm to 25mm	Sam	183.36	150.00	₹ 27,504.55
6	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste material by mechnical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by engineer in charge, beyong 50m initial lead, fo all leads including all lifts involved	cum	8.37	2,000.00	₹ 16,731.12
7	Dismantling GI Sheet roofing including ridges, hips, valleys and gutters etc., and stacking the material within 50 metres lead	sqm	93.50	350.00	₹ 32,725.0
8	Dismantling stone slab flooring laid in cement mortar including stacking of servicable material and disposal of unservicable material within 50 metres lead	Sqm	93.50	200.00	₹ 18,700.0
10	Taking out existing CC interlocking paver blocks from footpath/ central verge, including removal of rubbish etc., disposal of unserviceable material to the dumping ground, for which payment shall be made separately and stacking of serviceable material within 50 metre lead as per direction of Engineer-in-Charge.	Sqm	252.00	50.00	₹ 12,600.00
	Eligilica in Oralgo.			Total	₹ 171,682.

-	Construction of Female Toilets and Water Cooler Area				
S.No	Description of Items	Unit	Qty	Rate	Amount
	EXCAVATION WORKS				
,	Earth work in excavation by mechanical means (Hydraufic excavator)/ manual means over areas exceeding 30 cm in depth, 1.5m in width including getting out and disposal of excavated earth lead up to 50 m and lift up to 1.5 m as directed by Engineer in incharge	Cu. Mtr.	182.00	450.00	₹ 81,900.00
UB T	OTAL (EXCAVATION WORKS):		The State of the Land		₹ 81,900.00
				100	
	PCC AND RCC WORKS				
3	Providing and laying in position cement concrete of ratio 1:1.5:3 (M-20) for PCC of the footing excluding the cost of centring and shuttering	cum	10.04	7,000.00	₹ 70,258.30
4	Providing and laying in position specified grade of reinforced cement concrete of grade 1:1.5:3 (1 cement : 1.5 coarse sand (zone-III) derived from natural sources : 3 graded stone aggregate 20 mm nominal size derived from natural sources), excluding the cost of centrin, shuttering, finishing and reinforcement	-	-		
	Cement Concrete of Grade M-25)	cum	26.04	8,000.00	₹ 208,293.60
5	Providing and placing high yield strength Thermo- mechanically treated bars (Fe 500 d) for reinforcement RCC work including straightning, cutting, bending and placing in position, binding with 18 gauge annealed steel wire and cost of binding wire complete. Tata/sail/JSW (TATA/SAIL Base Price:50,000 Rs/MT plus Tax extra) and Ply wood SHuttering of structures (Ply woood shutter=8'X4')				
7	Shutturing	Sqm	221.48	650.00	₹ 143,962.00
JB T	OTAL (PCC AND RCC WORKS)				₹ 422,513.90
	FLOORING WORKS				
7	Cement concrete flooring 40 mm thick in M-15 (1 cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete.	Sq. Ft.	449.77	40.00	₹ 17,990.72
8	Providing and laying (Kajaria Eternity/NITCO/Orientbell)-Antiskid Vitrified Tile(AVT) of Size of Tile 600mm x 600 mm in floor in different sizes (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS:15622, of approved brand & manufacturer, in all colours and shade, laid on 20 mm thick cement mortar 1:4 (1 cement:4 coarse sand) jointing with grey cement slurry @3.3 kg/sqm including grouting the joints with white cement and matching pigments etc. The tiles must be cut with the zero chipping diamond cutter only. Laying of tiles will be done with the notch trowel, olier, wedge, clips of required thickness, leveling system and rubber mallet for placing the tiles gently and easily (Material Base Rate:Rs.50 sqft.)	Sq. Ft.	511.10	120.00	₹ 61,332.00
в то	TAL (FLOORING WORKS)				₹ 79,322.72
7	TILE CLADDING WORKS, DPC AND WATER PROOFING		0.000		

0	Supplying 8 Laying of wall tiles of size 300 mm x 600 mmX10mm or as specified by Architect of approved make, shade & color on cement mortar 1 3(1 part cement and 3 part coarse sand)with 3mm spacers to maintain spaces between tile, complete and as per specifications given by the Architect. The rate shall include making of cut-outs/openings etc. wherever required.(Material Base Rate FOR:45/sqft.)	Sq. Ft.	841.86	130.00	₹ 109,442.11
12	Providing and laying water-proofing treatment to toilet, consisting of 4 coats of Tape Crete (CICO/FOSROC) to floors and vertical sides with 1st coat of TapeCrete mixed with white cement in proportion of 1:2, sealing all junctions, corners etc and 10-12 mm thick protection plaster in cement mortar 1:4(1 cement 4 coarse sand) complete with curing.	Sq. Ft.	511.10	80,00	₹ 40,888.00
ID T	TOTAL (STONE AND GRANITE WORKS, DPC WATERPROOFING)				₹ 150,330.11
UD I	OTAL STONE AND GRANTE WORKS, DI O WATER ROOTING				
	BRICKWORKS AND PLASTERING WORKS				
13	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in 1:4 cement mortar (9" Wall) (Material Base rate 1 Cum=Approx. 13 Bricks @ Rs.10 per brick	cu.ft.	2,078.54	200.00	₹ 415,708.00
15	15 mm cement plaster of mix in 1:4 ratio for external walls	Sq. Ft.	3,023.72	40.00	₹ 120,948.80
	OTAL (BRICKWORKS AND PLASTERING WORKS)				₹ 536,656.80
	DRAINAGE AND WATER PIPE WORKS				
16	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) and UPVC pipes, having thermal stability for hot & cold water supply, including all CPVC and UPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge.				
6.1	Flexible pipe 32mm Dia	each	5.00	500.00	2,500.00
6.2	40 mm Diameter (uPVC Pipe SCH-80)	R.Metre	6.00	375.00	2,250.00
6.3	50 mm Diameter (uPVC Pipe SCH-80)	R.Metre	16.00	420.00	6,720.00
6.4	100 mm Diameter (uPVC Pipe SCH-80)	R.Metre	20.00	790.00	15,800.00
6.5 JB T	15 mm nominal dia Pipes (CPVC Pipe SCH-80) OTAL (DRAINAGE AND WATER PIPE WORKS)	R.Metre	55.00	320.00	17,600.00 44,870.00
DIME	R AND PUTTY WORKS	AND PARTY OF THE			
17	Applying one coat of water thinnable cement primer of approved brand and manufacture on Outer wall surface (Specification: Berger BP Cement Primer (WT) with a spread 80-100 sq.ft./ litre)	Sq. Ft.	800.00	10.00	8,000.00
18	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the outer plastered wall surface to prepare the surface even and smooth complete.  (Recommended:JK wall maxx White Cement/Birla white/Gyproc)	Sq. Ft.	800.00	8.00	6,400.00
	SUB TOTAL (PLASTERING AND PAINTING WO	RKS)			14,400.00
	JOB TOTAL (I ENGLETATE CARTING VIC			13/6/11/2	
SCF	LLANEOUS WORKS	WE THE			
19	Gypsum ceilling	Sq. Ft.	180.00	120.00	21,600.00
	Grid ceilling	Sqft	192.00	160.00	30,720.00
20	Providing and Fixing of fixtures with piping systems	-	-	44.000.00	77.000.00
0.1	Water Closets with water jets (RAK Neptune/Cera/Hindware 700 X 36	each	7.00	11,000.00	77,000.00

20.2	Wash Basins (18x15" Inch/Glossy Finish/Wall Hung/Wall Mounted Bathroom Sink/Super White Color)(Recommended:Zoyo Cera/kerovit)	each	4.00	8,500.00	34,000.00
20.3	Mirrors for Toilet: Providing & fixing 6mm thk clear Mirrors with babbling of specified size fixed on 12mm thk waterproof plywood backing as per approved drawings, specification and as approved by	sq.ft.	32.00	450.00	14,400.00
	Architect/ Engineer-in-charge.	- 1	7.00	4.500.00	31,500.00
20.4	Faucets for Wash basin (Kohler Beam Pillar Wash Basin Tap)(Cera/k	each	7.00	25,000.00	175,000.00
20.5	Water Closet Cubicles (1mX1.5mX6'6") (High Pressure Laminate)	each		25,000.00	25,000.00
20.6	Toiler Flush Door (Wooden door of 6'8"X2'6")	each	1.00	25,000.00	409,220.00
20.0	SUB TOTAL (MISCELLANEOUS WORKS)				409,220.00

	Construction of Male Toilet					
S.No	Description of Items	Unit	Qty	Rate	Amou	int
	EXCAVATION WORKS					-
1	Excavating trenches of required width for pipes, cables, etc including excavation for sockets and dressing of sides, ramming of bottom depth up to 1.5 m, including getting out the excavated soil and then returning the soil as required, in layers not exceeding 20 cm in depth, including consolidating each deposited layer by ramming watering etc and disposing surplus excavated soil as directed within a lead of 50 m		-		-	
1.1	40 mm Diameter	R. Metre	8.00	370.00	2,9	960.00
1.2		R. Metre	20.00	390.00	7,8	300.00
1.3	100 mm Diameter	R. Metre	35.00	410.00	14,:	350.00
OB I	OTAL (EXCAVATION WORKS)				25,	110.00
	CEMENT CONCRETE FLOORING WORKS					
2	Cement concrete flooring 40 mm thick in 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete.	Sq. Ft.	665.00	40.00	26	,600.00
UB T	OTAL (PCC AND RCC WORKS)				26	,600.00
_	EL CODINO MODIZO					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	Providing and laying (Kajaria Eternity/NITCO/Orientbell)-Antiskid					
3	Vitrified Tile(AVT) of Size of Tile 600mm x 600 mm in floor in different sizes (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS:15622, of approved brand & manufacturer, in all colours and shade, laid on 20 mm thick cement mortar 1:4 (1 cement:4 coarse sand) jointing with grey cement slurry @3.3 kg/sqm including grouting the joints with white cement and matching pigments etc. The tiles must be cut with the zero chipping diamond cutter only. Laying of tiles will be done with the notch trowel, plier, wedge, clips of required thickness, leveling system and rubber mallet for placing the tiles gently and easily (Material Base Rate: 50sqft.)	Sq. Ft	0.00	135.0	00	0.00
T	TAL (FLOORING WORKS)			3 23		0.00
-	TILE CLADDING WORKS, DPC AND WATER PROOFING WORK					
4 s	Supplying & Laying of wall tiles of size 300 mm x 600 mmX10mm or as specified by Architect of approved make, shade & color on cement mortar 1:3(1 part cement and 3 part coarse sand)with 3mm spacers to maintain spaces between tile, complete and as per specifications given by the Architect. The rate shall include making of cut-outs/openings etc. wherever required.(Material Base Rate FOR:45/sqft.)	Sq. F	t. 633.0	0 118	5.00	72,795.00
s p tt	Providing and laying water- proofing treatment to toilet, consisting of 4 coats of Tape Crete (CICO/FOSROC) to floors and vertical ides with 1st coat of TapeCrete mixed with white cement in proportion of 1:2, sealing all junctions, corners etc.and 10-12 mm nick protection plaster in cement mortar 1:4(1 cement: 4 coarse and) complete with curing.	Sq. F	Ft. 332.	50 8	0.00	26,600
TOT	TAL (STONE GRANITE WORKS, DPC AND WATERPROOFING					
	THE COLONE OF WHITE WORKS THE AND WATERDOOD	~				

	To the second se			Sub Total	447,940.00
20.6	Toiler Flush Door (Wooden door of 6'8"X2'6")	Each	1.00	20,000.00	20,000.00
20.5	Water Closet Cubicles (1mx1.5mx6 6 ) (right Flessure Laminate)	each	1.00	25,000.00	25,000.00
	by Architect/ Engineer-in-charge.	1	6.00	30,000.00	180,000.00
14.5	Mirrors for Toilet: Providing & fixing 6mm thk clear Mirrors with babbling of specified size fixed on 12mm thk waterproof plywood backing as per approved drawings, specification and as approved	sa ft	24.00	450.00	10,800.00
144	Long body Faucets for Wash basin (Kohler Beam Pillar Wash Basi	each	14.00	4,500.00	63,000.00
14.3	Cotor)(Recommended:Zoyo Cera/kerovit)	each	3.00	8,500.00	25,500.00
	Wash Basins (18x15" Inch/Glossy Finish/Wall Hung/Wall			0.500.00	25 500 00
14:	Water Closets with water jets (RAK Neptune/Cera/Hindware) 700 X	each	6.00	11,000.00	66,000.00
14 .	Urinals (RAK/CERA/Hindware)(375mmX315mmX620mm)	each	6.00	7,500.00	45,000.00
- 4	Providing and Fixing of fixtures with piping systems	-	-		-
13	G lav-in ceiling with border panels forming flush-tegular edge of	Sq. Ft.	204.00	160.00	32,640.00
	MISCELLAENOUS WORKS Providing and fixing in horizontal level Armstrong Cellio Open cell				
UE T	OTAL (PLASTERING AND PAINTING WORKS)				0.00
	specification as per detail including scaffolding, curing etc. complete ar per instructions of engineer in charge				0.00
ē	A adding liquid water proofing admixture of "conplast X421IC of tostoc or approved equivalent of "sika" make as per manufacturer's	Sq. Ft.	0.00	38.00	0.00
	intaster at all heights with CM 1.4 rough finished with using sponge or all types of concrete/brick surfaces, including providing			38.00	0.00
	Providing and applying 12mm thick sand faced cement				
	PLASTERING AND OUTER PUTTY WORKS				

_	PLASTERING AND OUTER PUTTY WORKS					
8	Providing and applying 12mm thick sand faced cement plaster at all heights with CM 1.4 rough finished with using sponge, on all types of concrete/brick surfaces, including providing 8 adding liquid water proofing admixture of "conplast X421IC of fosroc or approved equivalent of "sika" make as per manufacturer's specification as per detail including scaffolding, curing etc. complete as per instructions of engineer in charge.	Sq. Ft.	0.00	38.00		0.00
SUB '	TOTAL (PLASTERING AND PAINTING WORKS)					0.00
	MISCELLAENOUS WORKS					
13	Providing and fixing in horizontal level Armstrong Cellio Open cell GI lay-in ceiling with border panels forming flush-tegular edge of size 600mm x 600mm		204.00	160.00	32,	640.00
14	Providing and Fixing of fixtures with piping systems	- 1	-			-
14.1	Urinals (RAK/CERA/Hindware)(375mmX315mmX620mm)	each	6.00	7,500.00	_	,000.000
14.2	Water Closets with water jets (RAK Neptune/Cera/Hindware) 700	each	6.00	11,000.00	66	6,000.00
14.3	Wash Basins (18x15" Inch/Glossy Finish/Wall Hung/Wall Mounted Bathroom Sink/Super White Color)(Recommended:Zoyo Cera/kerovit)	each	3.00	8,500.00		5,500.00
14.4	Long body Faucets for Wash basin (Kohler Beam Pillar Wash Ba	si each	14.00	4,500.0	0 0	63,000.00
14.5	Mirrors for Toilet: Providing & fixing 6mm thk clear Mirrors with babbling of specified size fixed on 12mm thk waterproof plywood backing as per approved drawings, specification and as approved to the specific structure.	od sq.ft	24.00	450.00		10,800.00
20.5		te) eac	h 6.00	30,000	.00	180,000.00
20.5	Toiler Flush Door (Wooden door of 6'8"X2'6")	ead	h 1.0	25,000	0.00	25,000.0
				Sub T	otal	447,940.0

-	Construction of Office				
S.No	Description of Items	Unit	Qty	Rate	Amount
	MISCELLANEOUS COMPONENTS IN OFFICE				
6	Providing and Fixing of Components in the Office	-	-		
6.1	Plant Head Cabin Table :- size - 1650 x 750 x 750mm high working table top,	No.	4.00	14500	58,000.00
6.6	Exec. office Workstation tables (1200mmX600mmX750mm Height)	No.	24.00	5500.00	132,000.00
	Workstation movable Drawer unit:- 525 x 375 x 675 mm high with 1 drawer and 1 shutter.		24.00	4500.00	108,000.00
	Workstation table(L Shape) :- 1750 x 450 x 750mm high working table top.with flapup box for electric		8.00	12500.00	100,000.00
	Internal Partition :- 1200 mm height (54mm thick)	Sqm	8.00	5000.00	40,000.00
	OTAL (MISCELLANEOUS COMPONENTS IN OFFICE)				380,000.00
				GRAND TOTAL	380,000.00

	Construction of Machine Development area				
S.No	0.				
	Description of Items	Unit			
	Providing WORKS	Unit	Qty	Rate	Amount
	1 TOVIORIO DIN Giving 1				
7	Sq. ft.) (Material Base Rate: Rs. 60 per	Sq. Ft.	6,587.25	140.00	922,215.00
	SUB TOTAL (FALSE CEILING WORKS)			AL ITEM	-,-,0.00
	ILLOURING WORKS				922,215.00
2	PVC Matte flooring 2 mm 4 :				322,213.00
3	PVC Matte flooring 2 mm thickness laid on clean surface (Blue Corridor Epoxy Flooring (Cree	Sq. Ft.	6,133.20	70.00	
-	Corridor Epoxy Flooring (Green colour 2 mm thickness)	Sq. Ftt			429,324.0
	TOTAL (FLOORING WORKS)	<u> </u>	0.00	90.00	0.
- 1	PARTITION WALL WORKS				429,324
F	Providing and Fixing Outes D				
h	Providing and Fixing Outer Parition 50mm thick with .5 m gi sheet of Jindal PUF Panel wall with the approved Colour (White) in full neight (Material Base Rate: Rs. 180 per sq. ft.)	Sq. Ft. 1,301.9		98 250.00	325.40
	SUB TOTAL (PARTITION WALL WORK	(2)			325,49
		.5)	- 1		325,4

	CONSTRUCTION OF RIGID PAVEMENT			-			
_		T To Ch	Quantity		Rate		Amount
S.No	Description of Items	Unit	Quantity				
_	SUB GRADE PREPARATION			-		_	
4	Preparation and consolidation of sub grade with power road roller of 8 to 12 tonne capacity after excavating earth to an average of 0.5 m depth, dressing to camber and consolidating with road roller including making good the undulations etc. and re-rolling the sub grade and disposal of surplus earthwith lead	cum	204	₹	450.00	₹	91,800.00
	unto 50 metres						91,800.00
IUB 1	TOTAL (SUB GRADE PREPARATION WORKS)						
3	Construction of granular sub-base (GSB) With material conforming to Grade-III (size range 26.5 mm to 0.075 mm) having CBR Value-20, mixing in a mechanical mix plant at OMC, carriage of mixed material by tippers to work site, for all leads & lifts, spreading in uniform layers of specified thickness with motor grader on prepared surface and compacting with	cum	137.7	₹	2,250.00	₹	309,825.00
_	Laving 300 micron HDPE sheet underneath the C.C. Pavement	sq.ft.	4941.25	₹	15.00	₹	74,118.75
5	as per the engineer in charge						383,943.75
UB T	OTAL (SUB GRADE AND BASE LAYER)			-			
6	Providing and laying C.C. pavement of mix M-25 with ready mixed concrete from batching plant. The ready mixed concrete shall be laid and finished with screed board vibrator, vacuum dewatering process and finally finished by floating, brooming with wire brush etc. complete as per specifications and directions of Engineer-in charge. (The panel shuttering work shall be paid fo separetely)	cum	61.2	₹	7,500.00	₹	459,000.00
	Reinforcement steel	Kg	2099.03	₹	90.00	₹	188,912.70
8	Cutting of joints of size 5 x 20-40 mm in Trimix and filling with foam (upto 14-34 mm depth) & remaining 6 mm depth of the groove with Nito seal 280S including repairing of edges etc complete.		80		150.00	₹	12,000.00
2 1	Controlled joints - 5mm X 40mm	R.mtr.	80	1	150.00	₹	12,000.00
32	Construction joints - 5mm X 20mm	IX.IIIu.	00	1			671,912.70
IB TO	OTAL (CONCRETE LAYER)						
	MISCELLANEOUS WORKS  Trench excavation for the side drain with the dimension of (600mmx600mm) along the length of road to be laid	cum	36.72		550.00	₹	20,196.00
	PCC for drain	Cuft	12.15 502.5	-	200.00	-	100,500.00
13	9" brick for drain	Cuft	502.5	-	110.00	_	55,275.00
14	4" brick for drain other side	Sqft	1624.75	-	40.00	-	
	Plaster for drain	Sqft No.	1024.73	+	850.00	_	
	Orain cover	Rmt	65	1	950.00		
7 1	Kerb stone OTAL (MISCELLANEOUS WORKS)	Kill	00	-		1	470,936.0